

Friday 1:00 pm

Salon de Quilles Laval

Lanes 3 - 14

Average List of Regular Team Members

Men Division 1: Enter Div Label

Team	Name	Ave	Pins	Gms	High Game	High Sers	Team	Name	Ave	Pins	Gms	High Game	High Sers
7	Bernard Robert	210	11986	57	289	788	4	Marcel LeHouiller	171	10469	61	279	660
1	Richard Dagenais	205	12975	63	288	712	3	Gaetan Rivest	170	10232	60	221	611
5	Serge Paquette	202	11531	57	257	698	8	Guy Barry	167	10061	60	242	609
10	Francois Guerard	200	9636	48	278	751	12	Jean-Marc Levesque	165	10449	63	235	572
6	Robert Lecours	188	11318	60	278	656	10	Yves Bertrand	163	10302	63	216	581
5	Richard Goyer	187	11268	60	268	657	6	Jean-Pierre Angers	160	9608	60	257	598
7	Jean -Marie Larente	187	11242	60	300	739	10	Real Charron	158	8574	54	230	566
7	Serge Gibeault	187	10114	54	256	663	10	Alain Ethier	154	8809	57	230	590
2	Roger Lacelle	187	9545	51	267	696	3	Claude L'Heureux	153	9211	60	225	561
2	Raymond Blais	185	10553	57	245	640	10	Pierre Lagace	140	8855	63	226	541
4	Daniel Robillard	184	9424	51	236	640	4	Raymond Reid	136	6944	51	195	487
5	Gilles Barrette	183	11541	63	250	694	4	Renald Martin	110	6633	60	182	443
8	Rejean Moussette	180	11363	63	254	624							

Women Division 1: Enter Div Label

Team	Name	Ave	Pins	Gms	High Game	High Sers	Team	Name	Ave	Pins	Gms	High Game	High Sers
11	Danielle Chabot	190	10263	54	265	705	8	Elen Fortin	156	9831	63	236	534
9	Huguette Lalonde	189	11357	60	269	688	11	Micheline Fortin	155	9791	63	229	596
11	Huguette Pilon	182	10405	57	258	621	5	Micheline Theriault	149	8539	57	218	574
1	Louise Jacques	181	10335	57	258	678	6	Claire Lecours	149	6583	44	217	604
7	Lise Lachance	180	9764	54	254	680	9	Monique Sickini	149	8060	54	229	554
12	Helene Richer	177	10663	60	248	645	6	Josee Lecours	149	8507	57	268	610
5	Lisette Carrier	177	9592	54	278	656	11	Claire Moussette	148	9346	63	206	584
4	Lise Beaupre	176	11105	63	246	658	12	Carole Robillard	144	9080	63	219	512
12	Micheline Soulard	176	11098	63	300	677	7	France Marion	143	8163	57	209	553
6	Denise Belanger	173	10948	63	246	652	8	Marthe Grenier	141	6358	45	191	520
1	Monique Lecompte	170	10756	63	268	618	11	Sylvie Barry	138	8604	62	233	546
3	Ghislaine Benoit	170	9691	57	247	605	3	Constance Cloutier	138	7461	54	230	572
12	Jeannette Goupil	166	9981	60	266	652	2	Dolores DeLagrave	136	6970	51	202	493
9	Francine Angers	165	9905	60	259	702	1	Gisele Dubord	133	8406	63	217	521
8	Lisette Cyr	164	10339	63	233	596	3	Chantal Benoit	128	7728	60	199	504
9	Nicole Gregoire	164	7380	45	227	581	9	Micheline Normandin	124	3623	29	163	463
2	Suzanne Bouffard	159	10030	63	268	641	2	Micheline Gascon	114	7219	63	211	498
1	Ginette Maisonneuve	156	9878	63	243	577							

Lane Assignments

	3-4	5-6	7-8	9-10	11-12	13-14
Today	9- 6	4- 8	2- 5	3- 7	10-11	1-12
Next Week	11-12	5- 6	9-10	1- 2	3- 4	7- 8

Team Standings

Place	#	Team Name	Team Captain	Points Won	Last Wk WON	Team Ave	Pins + HDCP	HDCP Game	HDCP Sers
1	4	4-LISE BEAUPRE	Lise Beaupre	217	38	777	14372	1043	3027
2	2	2-SUZANNE BOUFFARD	Suzanne Bouffard	212½	43½	781	14554	1067	3035
3	8	8-REJEAN MOUSSETTE	Rejean Moussette	207½	38	808	14400	1077	2945
4	11	11-SYVIE BARRY	Sylvie Barry	192	45	813	14328	1032	2953
5	10	10-YVES BERTRAND	Yves Bertrand	159	27	815	13862	1034	2952
6	9	9NICOLE GREGOIRE	Nicole Gregoire	158½	15	791	14053	1049	2938
7	5	5-SERGE PAQUETTE	Serge Paquette	141½	37	898	13757	977	2849
8	12	12-HELENE RICHER	Helene Richer	134	31	828	13786	999	2807
9	3	3-CLAUDE L`HEUREUX	Claude L'Heureux	133½	0	759	11241	1051	2918
10	1	1-LOUISE JACQUES	Louise Jacques	107½	42½	845	13437	1103	2925
11	7	7-JEAN-MARIE LARENTE	Jean -Marie Larent	97	26	907	13432	944	2754
12	6	6-CLAIRE LECOURE	Claire Lecours	88	17	819	13166	990	2910

Last Week's Top Scores

Handicap Game	1034	10-YVES BERTRAND	1032	11-SYVIE BARRY	975	5-SERGE PAQUETTE	
Handicap Series	2875	11-SYVIE BARRY	2832	5-SERGE PAQUETTE	2830	1-LOUISE JACQUES	
Men	Scratch Game	234	Richard Goyer	226	Richard Dagenais	223	Bernard Robert
	Scratch Series	619	Richard Goyer	617	Richard Dagenais	578	Bernard Robert
Women	Scratch Game	208	Danielle Chabot	205	Lisette Cyr	202	Lise Beaupre
	Scratch Series	587	Danielle Chabot	532	Micheline Soulard	508	Huguette Pilon

Season High Scores

Handicap Game	1103	1-LOUISE JACQUES	1077	8-REJEAN MOUSSETTE	1067	2-SUZANNE BOUFFARD	
Handicap Series	3035	2-SUZANNE BOUFFARD	3027	4-LISE BEAUPRE	2953	11-SYVIE BARRY	
Men	Scratch Game	300	Jean -Marie Larente	289	Bernard Robert	288	Richard Dagenais
	Scratch Series	788	Bernard Robert	751	Francois Guerard	739	Jean -Marie Larente
Women	Scratch Game	300	Micheline Soulard	278	Lisette Carrier	269	Huguette Lalonde
	Scratch Series	705	Danielle Chabot	702	Francine Angers	688	Huguette Lalonde

Team Rosters

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
1 - 1-LOUISE JACQUES									
Gisele Dubord	8406	63	133	121	119	124	364	124 - 134=-10	364 - 402=-38
Ginette Maisonneuve	9878	63	156	161	166	162	489	166 - 156=10	489 - 468=21
Monique Lecompte	10756	63	170	155	153	139	447	155 - 171=-16	447 - 513=-66
Louise Jacques	10335	57	181	150	131	176	457	176 - 182=-6	457 - 546=-89
Richard Dagenais	12975	63	205	226	174	217	617	226 - 205=21	617 - 615=2
2 - 2-SUZANNE BOUFFARD									
Suzanne Bouffard	10030	63	159	135	126	125	386	135 - 160=-25	386 - 480=-94
Dolores DeLagrange	6970	51	136	a136	a136	a136	408		
Micheline Gascon	7219	63	114	129	111	99	339	129 - 114=15	339 - 342=-3
Roger Lacelle	9545	51	187	a187	a187	a187	561		
Raymond Blais	10553	57	185	161	175	139	475	175 - 186=-11	475 - 558=-83
3 - 3-CLAUDE L'HEUREUX									
Claude L'Heureux	9211	60	153	a153	a153	a153	459		
Constance Cloutier	7461	54	138	a138	a138	a138	414		
Chantal Benoit	7728	60	128	a128	a128	a128	384		
Gaetan Rivest	10232	60	170	a170	a170	a170	510		
Ghislaine Benoit	9691	57	170	a170	a170	a170	510		
4 - 4-LISE BEAUPRE									
Raymond Reid	6944	51	136	115	139	141	395	141 - 136=5	395 - 408=-13
Renald Martin	6633	60	110	a110	a110	a110	330		
Daniel Robillard	9424	51	184	183	161	122	466	183 - 186=-3	466 - 558=-92
Marcel LeHouiller	10469	61	171	155	134	178	467	178 - 172=6	467 - 516=-49
Lise Beaupre	11105	63	176	152	136	202	490	202 - 176=26	490 - 528=-38
5 - 5-SERGE PAQUETTE									
Lisette Carrier	9592	54	177	a177	a177	a177	531		
Micheline Theriault	8539	57	149	125	113	160	398	160 - 150=10	398 - 450=-52
Gilles Barrette	11541	63	183	143	150	119	412	150 - 185=-35	412 - 555=-143
Richard Goyer	11268	60	187	194	234	191	619	234 - 186=48	619 - 558=61
Serge Paquette	11531	57	202	185	201	186	572	201 - 202=-1	572 - 606=-34
6 - 6-CLAIRE LECOUCRS									
Claire Lecours	6583	44	149	116	119	107	342	119 - 152=-33	342 - 456=-114
Josee Lecours	8507	57	149	92	110	129	331	129 - 151=-22	331 - 453=-122
Denise Belanger	10948	63	173	114	185	168	467	185 - 174=11	467 - 522=-55
Jean-Pierre Angers	9608	60	160	133	145	132	410	145 - 161=-16	410 - 483=-73
Robert Lecours	11318	60	188	a188	a188	a188	564		
7 - 7-JEAN-MARIE LARENTE									
Lise Lachance	9764	54	180	a180	a180	a180	540		
France Marion	8163	57	143	117	133	93	343	133 - 144=-11	343 - 432=-89
Serge Gibeault	10114	54	187	a187	a187	a187	561		
Jean -Marie Larente	11242	60	187	147	154	164	465	164 - 189=-25	465 - 567=-102
Bernard Robert	11986	57	210	154	201	223	578	223 - 211=12	578 - 633=-55
8 - 8-REJEAN MOUSSETTE									
Lisette Cyr	10339	63	164	205	144	158	507	205 - 163=42	507 - 489=18
Marthe Grenier	6358	45	141	a141	a141	a141	423		
Elen Fortin	9831	63	156	103	131	130	364	131 - 157=-26	364 - 471=-107
Guy Barry	10061	60	167	172	139	113	424	172 - 169=3	424 - 507=-83
Rejean Moussette	11363	63	180	154	176	170	500	176 - 181=-5	500 - 543=-43

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
9 - 9NICOLE GREGOIRE									
Monique Sickini	8060	54	149	a149	a149	a149	447		
Micheline Normandin	3623	29	124	109	100	104	313	109 - 127=-18	313 - 381=-68
Francine Angers	9905	60	165	152	122	112	386	152 - 167=-15	386 - 501=-115
Huguette Lalonde	11357	60	189	135	162	176	473	176 - 190=-14	473 - 570=-97
Nicole Gregoire	7380	45	164	165	146	147	458	165 - 164=1	458 - 492=-34
10 - 10-YVES BERTRAND									
Pierre Lagace	8855	63	140	110	145	157	412	157 - 140=17	412 - 420=-8
Yves Bertrand	10302	63	163	161	98	194	453	194 - 164=30	453 - 492=-39
Alain Ethier	8809	57	154	136	137	161	434	161 - 155=6	434 - 465=-31
Real Charron	8574	54	158	129	126	155	410	155 - 160=-5	410 - 480=-70
Francois Guerard	9636	48	200	165	165	188	518	188 - 202=-14	518 - 606=-88
11 - 11-SYVIE BARRY									
Sylvie Barry	8604	62	138	110	107	120	337	120 - 140=-20	337 - 420=-83
Claire Moussette	9346	63	148	155	164	127	446	164 - 148=16	446 - 444=2
Micheline Fortin	9791	63	155	125	171	146	442	171 - 155=16	442 - 465=-23
Huguette Pilon	10405	57	182	138	197	173	508	197 - 183=14	508 - 549=-41
Danielle Chabot	10263	54	190	193	208	186	587	208 - 189=19	587 - 567=20
12 - 12-HELENE RICHER									
Micheline Soulard	11098	63	176	192	140	200	532	200 - 176=24	532 - 528=4
Jeannette Goupil	9981	60	166	105	89	137	331	137 - 169=-32	331 - 507=-176
Carole Robillard	9080	63	144	135	157	116	408	157 - 144=13	408 - 432=-24
Jean-Marc Levesque	10449	63	165	163	133	157	453	163 - 166=-3	453 - 498=-45
Helene Richer	10663	60	177	164	133	166	463	166 - 178=-12	463 - 534=-71